BID TABULATION FOR:

BID OPENING DATE: **BID OPENING LOCATION:** TABULATION BY: TABULATION DATE: LJA JOB NO.

1) R CONSTRUCTION CIVIL, LLC

3) RODRIGUEZ CONSTRUCTION GROUP, LLC

2) PRINCIPAL SERVICES, LTD

CONSTRUCTION OF THE WATER AND DRAINAGE FACILITIES & PAVING AND APPURTENANCES TO SERVE MANVEL PARKWAY EXTENSION PHASE I (REBID) BRAZORIA COUNTY MUNICIPAL UTILITY DISTRICT NO. 43 CITY OF MANVEL, BRAZORIA COUNTY, TEXAS AUGUST 13, 2024 LJA ENGINEERING, INC. C CORTEZ AUGUST 13, 2024 2197-2401B & 2197-2401C (9.0)

TOTAL AMOUNT BID

\$678,124.00

\$732,550.10

CALENDAR DAYS 45/60

JOSHUAT. BROOKS

PE, hereby certify these bid tabulations to be true and correct. JOSHUA BROOKS

BIDDER'S NAME

BID TABULATION FOR: BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO.			TC BF CI AL LJ. C I AL	O SERVE MANVEL PARI	KWAY EXTENSION PHA IICIPAL UTILITY DISTRI ORIA COUNTY, TEXAS		AND APPURTENANCES	5	
				1) R CONSTRUCTI	ON CIVIL, LLC	2) PRINCIPAL SE	ERVICES, LTD	3) RODRIGUEZ CONSTR	JCTION GROUP, LLC
ITEM DESCRIPTION		UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
WATER SYSTEM ITEMS									
1 6" PVC WATER LINE, AWWA C-900, SDR 18, CLASS VALVES & BEDDING AND BACKFILL, ALL DEPTHS, (LF	4	\$40.00	\$160.00	\$49.00	\$196.00	\$33.45	\$133.80
2 12" PVC WATER LINE, AWWA C-900, SDR 18, CLASS VALVES & BEDDING AND BACKFILL, ALL DEPTHS, G		LF	156	\$80.00	\$12,480.00	\$91.00	\$14,196.00	\$67.85	\$10,584.60
3 12" PVC RESTRAINED JOINT WATER LINE, AWWA O INCLUDES RESTRAINED JOINT FITTINGS, VERTICA BACKFILL, ALL DEPTHS, COMPLETE IN PLACE		LF	91	\$135.00	\$12,285.00	\$147.00	\$13,377.00	\$126.00	\$11,466.00
4 12" AWWA GATE VALVE AND BOX, ALL DEPTHS, CO	OMPLETE IN PLACE	EA	1	\$4,100.00	\$4,100.00	\$4,299.00	\$4,299.00	\$4,460.00	\$4,460.00
5 FIRE HYDRANT UNIT, ALL DEPTHS, INCLUDES APP GATE VALVE AND BOX, LEAD AND FLUSHING VALV		EA	1	\$7,800.00	\$7,800.00	\$7,814.00	\$7,814.00	\$7,498.38	\$7,498.38
6 REMOVE AND RELOCATE EXISTING END-OF-LINE F ALL FITTINGS AND ADAPTERS OR REPAIRS NECES PROPOSED WATER LINE, ALL DEPTHS, COMPLETE	SARY, AND CONNECTION OF	EA	1	\$1,500.00	\$1,500.00	\$500.00	\$500.00	\$1,672.50	\$1,672.50
7 20" STEEL CASING FOR 12" WATER LINE, INCLUDE COMPLETE IN PLACE	S SPACERS AND END SEALS,	LF	46	\$150.00	\$6,900.00	\$80.00	\$3,680.00	\$237.50	\$10,925.00
8 TRENCH SAFETY SYSTEM, ALL SIZES AND DEPTHS	5, COMPLETE IN PLACE	LF	251	\$0.10	\$25.10	\$0.10	\$25.10	\$1.12	\$281.12
9 DEWATERING PER LF OF PIPE (NO SEPARATE PAY NEEDED), ALL DEPTHS, (THIS IS AN ESTIMATED QU THE DIRECTION OF THE ENGINEER), COMPLETE IN	JANTITY TO BE USED ONLY AT	LF	126	\$30.00	\$3,780.00	\$0.10	\$12.60	\$10.00	\$1,260.00
WATER SYSTEM ITEMS SUBTOTAL:					\$49,030.10		\$44,099.70		\$48,281.40
STORM SEWER SYSTEM ITEMS									
1 6' X 5' REINFORCED CONCRETE PRE-CAST OR REI PLACE BOX CULVERT, ASTM C-76, ALL DEPTHS, CO		LF	594	\$650.00	\$386,100.00	\$870.00	\$516,780.00	\$808.38	\$480,177.72
2 5" REINFORCED CONCRETE SLOPE PAVING, INCLU INCLUDES WEEP HOLES AND EXPANSION JOINTS, FLUSH WITH SLOPE PAVEMENT, COMPLETE IN PL/	INCLUDES CUTTING PIPE	SY	290	\$145.00	\$42,050.00	\$115.00	\$33,350.00	\$117.08	\$33,953.20
3 SAFETY END TREATMENT FOR 6' X 5' BOX CULVER UPSTREAM AND DOWNSTREAM OPENINGS), COM		EA	6	\$3,500.00	\$21,000.00	\$500.00	\$3,000.00	\$2,230.00	\$13,380.00
4 MISCELLANEOUS DRAINAGE \$WALES, 4:1 SIDE SL DEPTHS, INCLUDES EXCAVATION, HAULING, STRIF STRIPPINGS, PLACEMENT AND COMPACTION TO 9 DENSITY, WITH MAXIMUM 8" LIFTS, AND RE-APPLIC COMPLETE IN PLACE	PPING, STOCKPILING 55% STANDARD PROCTOR	LF	111	\$15.00	\$1,665.00	\$9.00	\$999.00	\$22.30	\$2,475.30
5 REGRADE EXISTING BDD4 STATE DITCH (PER SHE DEPTHS, INCLUDES EXCAVATION, STRIPPING, STO PLACEMENT AND COMPACTION TO 95% STANDAR MAXIMUM 8" LIFTS, AND RE-APPLICATION OF STRI	DCKPILING STRIPPINGS, D PROCTOR DENSITY, WITH	LS	1	\$5,000.00	\$5,000.00	\$500.00	\$500.00	\$8,362.50	\$8,362.50
6 BYPASS PUMPING FOR BOX CULVERT CONSTRUC USED ONLY AT THE DIRECTION OF THE ENGINEER		DAY	7	\$2,000.00	\$14,000.00	\$100.00	\$700.00	\$390.25	\$2,731.75
7 T.V. INSPECTION OF STORM SEWER LINES, (TO BE DIRECTION OF THE ENGINEER), CLEANING OF LIN INCIDENTAL, COMPLETE IN PLACE		LF	594	\$5.00	\$2,970.00	\$1.00	\$594.00	\$3.35	\$1,989.90

BID TABULATION FOR:			TC BF Cl'	SERVE MANVEL PARK	WAY EXTENSION PHAS		ND APPURTENANCES		
BID OPENING LOCATIO TABULATION BY: TABULATION DATE: LJA JOB NO.	IN:		LJ. C (AL	A ENGINEERING, INC. CORTEZ JGUST 13, 2024 97-2401B & 2197-2401C	(9.0)				
				1) R CONSTRUCTIO	ON CIVIL, LLC	2) PRINCIPAL SEF	RVICES, LTD	3) RODRIGUEZ CONSTRU	JCTION GROUP, LLC
ITEM	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
8 TRENCH SAFETY COMPLETE IN PL	' SYSTEM FOR ALL STORM SEWER, ALL SIZES, ALL DEPTHS, ACE	LF	594	\$0.10	\$59.40	\$0.10	\$59.40	\$1.12	\$665.28
NEEDED), ALL DI	ER LF OF PIPE (NO SEPARATE PAY FOR DOUBLE ROW IF EPTHS, THIS IS AN ESTIMATED QUANTITY TO BE USED ONLY AT OF THE ENGINEER, COMPLETE IN PLACE	LF	297	\$30.00	\$8,910.00	\$20.00	\$5,940.00	\$20.00	\$5,940.00
	ST FOR MODIFIED "A-A" STORM BEDDING (TO BE USED ONLY AT OF THE ENGINEER), COMPLETE IN PLACE	LF	149	\$20.00	\$2,980.00	\$20.00	\$2,980.00	\$20.00	\$2,980.00
STORM SEWER SYSTE	M ITEMS SUBTOTAL:				\$484,734.40		\$564,902.40		\$552,655.65
MISCELLANEOUS ITEM	IS (WS&D)								
1 METHOD "A" CON PLACE	ISTRUCTION STAKING BY THE CONTRACTOR, COMPLETE IN	LS	1	\$12,000.00	\$12,000.00	\$3,000.00	\$3,000.00	\$6,146.93	\$6,146.93
ROADWAY AND S HAULING, PLACI	ORM SEWER UTILITY SPOILS, TO BE USED FOR ONSITE SPECIFIED FILL AREAS (PER GRADING PLAN), INCLUDES NG, AND COMPACTION TO 95% STANDARD PROCTOR DENSITY 3" LIFTS, COMPLETE IN PLACE	CY	50	\$20.00	\$1,000.00	\$7.50	\$375.00	\$5.58	\$279.00
	STABILIZED SAND, (TO BE USED ONLY AT THE DIRECTION OF COMPLETE IN PLACE	CY	100	\$48.00	\$4,800.00	\$25.00	\$2,500.00	\$25.00	\$2,500.00
4 INSTALL, MAINTA COMPLETE IN PL	NN, AND REMOVE REINFORCED FILTER FABRIC FENCE, ACE	LF	788	\$2.50	\$1,970.00	\$1.00	\$788.00	\$3.35	\$2,639.80
	NN, AND REMOVAL UPON COMPLETION OF CONCRETE , COMPLETE IN PLACE	EA	1	\$600.00	\$600.00	\$100.00	\$100.00	\$1,672.50	\$1,672.50
6 INLET PROTECT	ON BARRIER FOR STAGE II INLET, COMPLETE IN PLACE	EA	2	\$60.00	\$120.00	\$50.00	\$100.00	\$111.50	\$223.00
7 INSTALL ROCK F	ILTER DAM, TYPE 3, COMPLETE IN PLACE	EA	2	\$3,000.00	\$6,000.00	\$500.00	\$1,000.00	\$1,059.25	\$2,118.50
8 INSTALL TEMPORARY COFFER DAM (TO BE USED ONLY AT THE DIRECTION OF THE ENGINEER), INCLUDES PUMPING, INSTALLATION AND REMOVAL UPON COMPLETION, COMPLETE IN PLACE		EA	\mathbf{O}	\$7,500.00	\$7,500.00	\$1,000.00	\$1,000.00	\$6,132.50	\$6,132.50
MISCELLANEOUS ITEN	IS (WS&D) SUBTOTAL:				\$33,990.00		\$8,863.00		\$21,712.23
PAVING ITEMS		-							
(PER GRADING F STRIPPINGS, PL/	BE USED FOR ONSITE ROADWAY AND SPECIFIED FILL AREAS "LAN), INCLUDES HAULING, STRIPPING, STOCKPILING ACEMENT AND COMPACTION TO 95% STANDARD PROCTOR MAXIMUM 8" LIFTS, AND RE-APPLICATION OF STRIPPINGS, ACE	CY	370	\$7.00	\$2,590.00	\$7.50	\$2,775.00	\$6.69	\$2,475.30
INCLUDES HAUL PROCTOR DENS	D COMPACTION OF MATERIAL FROM DESIGNATED STOCKPILE, ING, PLACEMENT AND COMPACTION TO 95% STANDARD ITY, WITH MAXIMUM 8' LIFTS, AND FINAL SITE GRADING, (AS IE ENGINEER), COMPLETE IN PLACE	CY	4810	\$6.00	\$28,860.00	\$7.50	\$36,075.00	\$8.36	\$40,211.60
3 6" CRUSHED CO COMPLETE IN PL	NCRETE FOR TEMPORARY ALL-WEATHER ACCESS ROAD, ACE	SY	292	\$25.00	\$7,300.00	\$50.00	\$14,600.00	\$39.03	\$11,396.76
4 7" REINFORCED	CONCRETE PAVEMENT, COMPLETE IN PLACE	SY	350	\$99.50	\$34,825.00	\$100.00	\$35,000.00	\$100.35	\$35,122.50
	DE (MANIPULATION), INCLUDES PROOF ROLLING (AS PER CITY UIREMENTS) AND COMPACTION TO 95% STANDARD PROCTOR .ETE IN PLACE	SY	384	\$8.50	\$3,264.00	\$25.00	\$9,600.00	\$18.96	\$7,280.64

BID TABULATION FOR: BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO.		T B C A L C C A	ONSTRUCTION OF THE 1 O SERVE MANVEL PARK RAZORIA COUNTY MUNI ITY OF MANVEL, BRAZOI UGUST 13, 2024 JA ENGINEERING, INC. CORTEZ UGUST 13, 2024 197-2401B & 2197-2401C	WAY EXTENSION PHASI CIPAL UTILITY DISTRICT RIA COUNTY, TEXAS	E I (REBID)	ND APPURTENANCES		
			1) R CONSTRUCTIO	N CIVIL, LLC	2) PRINCIPAL SEF	RVICES, LTD	3) RODRIGUEZ CONSTR	JCTION GROUP, LLC
ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
6 LIME FOR 6" STABILIZED SUBGRADE PREPARATION, 8% BY DRY WEIGHT (37 LBS/SY) AS REQUIRED BY SOIL CONDITIONS AND APPROVED BY GEOTECHNICA ENGINEER, COMPLETE IN PLACE	TON L	7.1	\$390.00	\$2,769.00	\$500.00	\$3,550.00	\$390.25	\$2,770.77
7 6" REINFORCED CONCRETE CURB, COMPLETE IN PLACE	LF	252	\$4.50	\$1,134.00	\$5.00	\$1,260.00	\$5.58	\$1,406.16
8 REINFORCED CONCRETE PAVING HEADER, COMPLTE IN PLACE	LF	25	\$25.00	\$625.00	\$15.00	\$375.00	\$36.80	\$920.00
9 CONNECT PROPOSED 7" REINFORCED CONCRETE PAVEMENT TO EXISTING REINFORCED CONCRETE PAVEMENT, COMPLETE IN PLACE	LF	25	\$50.00	\$1,250.00	\$15.00	\$375.00	\$78.05	\$1,951.25
10 INSTALL DUAL TIGER TEETH STORE SWING PRIVATE ACCESS GATE, MODEL NO 14010-12, INCLUDES KNOX BOX, (PER DETAIL ON SHEET 19 OF 24 OF PLANS), OF APPROVED EQUAL, COMPLETE IN PLACE		1	\$4,500.00	\$4,500.00	\$1,000.00	\$1,000.00	\$4,460.00	\$4,460.00
11 INSTALL TYPE III BARRICADE, COMPLETE IN PLACE	EA	2	\$1,500.00	\$3,000.00	\$500.00	\$1,000.00	\$1,338.00	\$2,676.00
12 4" SQUARE DOUBLE REFLECTORIZED BLUE TRAFFIC BUTTONS FOR FIRE HYDRANT LOCATION, COMPLETE IN PLACE	EA	1	\$20.00	\$20.00	\$10.00	\$10.00	\$16.73	\$16.73
13 PERMANENT TRAFFIC CONTROL DEVICES, INCLUDES ALL TRAFFIC BUTTONS, PAVEMENT STRIPING, MARKERS, REFLECTIVE PAINT ON MEDIAN NOSES, STOP SIGNS, STREET SIGNS, AND ALL OTHER TRAFFIC SIGNS SHOWN IN THE CONSTRUCTION PLANS, COMPLETE IN PLACE	LS	1	\$8,500.00	\$8,500,00	\$2,845.00	\$2,845.00	\$1,672.50	\$1,672.50
PAVING ITEMS SUBTOTAL:				\$98,637.00		\$108,465.00		\$112,360.21
MISCELLANEOUS ITEMS (PAVING)								
1 HAUL AND DISPOSE OF EXCAVATED MATERIAL, OUTSIDE OF THE DEVELOPMEN IN A LEGAL MANNER, (ONLY TO BE USED AT THE DIRECTION OF THE ENGINEER INCLUDES ALL PERMITS AND DISPOSAL FEES, COMPLETE IN PLACE		50	\$25.00	\$1,250.00	\$25.00	\$1,250.00	\$22.30	\$1,115.00
2 EXTRA CEMENT STABILIZED SAND, (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	CY	50	\$48.00	\$2,400.00	\$25.00	\$1,250.00	\$25.00	\$1,250.00
3 EXTRA REINFORCED FILTER FABRIC FENCING, INCLUDES CONTINUED MAINTENANCE AND REMOVAL UPON COMPLETION, (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	LF	100	\$2.50	\$250.00	\$2.00	\$200.00	\$5.58	\$558.00
4 EXTRA BURLAP BAG BARRIER ON INLET, (TO BE USED ONLY AT THE DIRECTION OF THE ENGINEER), COMPLETE IN PLACE	EA	2	\$60.00	\$120.00	\$10.00	\$20.00	\$10.00	\$20.00
5 LIGHT CLEARING AND GRUBBING, MATERIAL TO BE HAULED OFFSITE (INCLUDE REMOVAL OF TREES, ROOT RAKING, BACK DRAGGING, AND TRANSPORTING), T BE USED ONLY AS DIRECTED BY THE ENGINEER, COMPLETE IN PLACE	S AC O	1	\$6,500.00	\$6,500.00	\$2,000.00	\$2,000.00	\$2,787.50	\$2,787.50
6 BROADCAST SEEDING AND WATERING TO AT LEAST 80% GERMINATION, (TO BE USED ONLY AT THE DIRECTION OF THE ENGINEER), COMPLETE IN PLACE	AC	0.5	\$675.00	\$337.50	\$1,000.00	\$500.00	\$3,345.00	\$1,672.50
7 HYDRO-MULCH SEEDING AND WATERING TO ATLEAST 95% GERMINATION, (TO BE USED ONLY AT THE DIRECTION OF THE ENGINEER), COMPLETE IN PLACE	AC	0.5	\$1,750.00	\$875.00	\$2,000.00	\$1,000.00	\$5,575.00	\$2,787.50
MISCELLANEOUS ITEMS (PAVING) SUBTOTAL:				\$11,732.50		\$6,220.00		\$10,190.50

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO.				MUNICIPAL UTILITY DISTRIC AZORIA COUNTY, TEXAS NC.				
			1) R CONSTRU	ICTION CIVIL, LLC	2) PRINCIPAL S	SERVICES, LTD	3) RODRIGUEZ CONST	FRUCTION GROUP, LLC
ITEM	DESCRIPTION	UNIT QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
BIDDING SUMMARY								
SUBTOTAL WATER SYSTEM ITEMS				\$49,030.10		\$44,099.70		\$48,281.40
SUBTOTAL STORM SEWER SYSTEM	M ITEMS			\$484,734.40		\$564,902.40		\$552,655.65
SUBTOTAL MISCELLANEOUS ITEMS	S (WS&D)			\$33,990.00		\$8,863.00		\$21,712.23
SUBTOTAL PAVING ITEMS				\$98,637.00		\$108,465.00		\$112,360.21
SUBTOTAL MISCELLANEOUS ITEMS	S (PAVING)			\$11,732.50		\$6,220.00		\$10,190.50
TOTAL AMOUNT BASE BID				\$678,124.00		\$732,550.10		\$745,199.99
				201				

CONSTRUCTION OF THE WATER AND DRAINAGE FACILITIES & PAVING AND APPURTENANCES

TO SERVE MANVEL PARKWAY EXTENSION PHASE I (REBID)

BID TABULATION FOR: